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-0 rgb —> rgb* and CIE data of a elementary hue circle rgb —> rgb* and CIE data of a elementary hue circle rgb —> rgb* and CIE data of a elementary hue circle rgb —> rgb* and CIE data of a elementary hue circle =
D D according to CIE R1-47:2009 for photo printer according to CIE R1-47:2009 for photo printer according to CIE R1-47:2009 for laser printer according to CIE R1-47:2009 for laser printer % C
Qo
g o 16 step elementary hue circlehy, = 25.4, 92.3, 162.2, 271.7 3 colours of the elementary hues RIGBh,p, = 25.4, 92.3, 162.2, 271.7 16 step elementary hue circlehy, = 25.4, 92.3, 162.2, 271.7 3 colours of the elementary hues RIGBh,, = 25.4, 92.3, 162.2, 271.7 -S—; w
—
a' =. Code L% a*y b*a  C*apa hap rgb —> rgh* Code L* a*y b*a  C*apa hap rgb —> rgb* Code L a*a b*a  C*apa hap rgb —> rgh* Code L* a*y b*a  C*apa hap rgb —> rgb* 8 D
«Q (@]
QD= r00j=R 341 614 292 680 254  1.000.000.0p r00j=R 341 614 292 680 254  1.000.000.0p r00j=R 482 652 31.0 722 254  1.000.000.0p ro0j=R 482 652 310 722 254 10000000p =he=-
—_. =} r25j 399 542 492 732 422 1.000.250.0p O05(R+N) 214 307 146 340 254  0.500.000.0p r25j 518 574 520 775 421 1.000.250.0p 05(R+N) 305 326 155 361 254  0.500.000.0p o (ﬁ,_
> QD 150j 528 382 632 739 588 1.000.500.0p O5(R+W) 634 307 146 340 254  1.000.500.5p 150j 619 375 621 725 588  1.000.500.0p 05(R+W) 727 326 155 361 254  1.000.50 0.5p S B
8“ o r75j 654 205 799 825 755  1.000.750.00| r75j 720 185 720 744 755  1.000.750.0p| 6"' ot
= = j00g=J 839 -43 1061 106.2 92.3  1.001.000.0p| j00g=J 839 -43 1061 106.2 92.3  1.001.00 0.0p j00g=J 847 -34 858 859 922  1.001.000.0p| j00g=J 847 -34 858 859 922 1.001.0000p = 6
3 o 259 707 -31.0 862 916 109.8 0.751.000.00 0,5(J+N) 462 -21 530 531 923  0.500.500.0p j25g 834 -285 791 841 109.8 0.751.000.00 0,5(J+N) 488 -1.7 429 429 922  0.500.500.0p @ >
e) 509 574 -50.3 661 831 127.2 0501.000.00 05(J+W) 883 -21 530 531 923  1.001.000.5p 509 701 -431 568 713 127.2 050100000 05(J+W) 909 -17 429 429 922 10010005) Z -*
—~0 759 436 -62.7 442 767 1447 0.251.000.00 759 595 -59.6 421 730 1447 0.251.000.00 D N
o< goob=G 468 -589 189 61.8 1621 0.001.000.00 g0Ob=G 468 -589 189 61.8 162.1 0.001.000.00 goob=G 579 -555 17.8 583 1622 0.001.000.00 g00b=G 579 -555 17.8 583 162.2 0.001.000.0p c o
=5 " g25b 49.7  -459 -7.7 466 1895 0.001.000.5) 05(G+N) 277 -29.4 9.4 30.9 162.1 0.00 0.50 0.00 g25b 589 -44.4 -7.4 450 1895 000100050 05(G+N) 354 -27.7 89 29.1 1622 0.000.50 0.0p D =
. E g50b 517 -335 -252 419 2170 000100100 05(G+W) 69.7 -29.4 9.4 309 162.1 0.501.000.50 g50b 540 -386 -29.1 483 217.0 000100100 05(G+W) 775 -27.7 89 29.1 1622 050100050 = O
o~ g75b 468 -17.2 -359 39.9 2443 0.000.50 1.0 g75b 505 -23.4 -488 54.1 2443 0.000.501.00 o o
;."_O b00r=B 381 13 -43.4 435 2717 0.000.001.00 boOr=B 381 13 -43.4 435 271.7 0.000.00 1.0p bo0r=B 368 14 -48.3 48.4 2717 0.000.001.00 b0Or=B 368 14 -48.3 484 2717 00000010D =5 w
T = b25r 242 310 -53.4 617 300.1 050000100 05(B+N) 234 06 -21.7 217 271.7 0.000.00 0.50 b25r 37.0 234 -404 467 3001 0.500001.00 05(B+N) 248 0.7 -24.1 242 2717 0.000.00 0.50 o
5 E b50r 303 688 -420 80.6 3286 1.000001.00 05(B+W) 654 0.6 -21.7 217 271.7 0.500.50 1.0p b50r 410 478 -29.2 560 3285 100000100 05(B+W) 670 0.7 241 242 2717 050050100 |I—‘
D b75r 358 672 -34 673 357.0 1.000.000.50 b75r 480 750 -38 751 357.0 1.000.000.50 g_ =
_CT 5 step equidistant grey scalet* = 8.6, 29.6, 50.6, 71.6, 92.6 5 step equidistant grey scalet.* = 8.6, 29.6, 50.6, 71.6, 92.6 5 step equidistant grey scalet* = 12.9, 34.0, 55.1, 76.1, 97.2 5 step equidistant grey scalet* = 12.9, 34.0, 55.1, 76.1, 97.2 3 I'I'I
< 3 Code L* a*, b*y C*ab,a hap rgb —> rgb* Code L% a*y b*, C*ab‘a hap rgb —> rgb* Code L* a*, b*y C*ab,a hap rgb —> rgbh* Code L*, a*y b*, C*ab,a  hap rgb —> rgb* (-D E
- D nooOw=N 87 0.0 0.0 0.0 1.2 0.000.000.0| nOOOW=N 87 0.0 0.0 0.0 1.2 0.000.000.0 nooOw=N  13.9 0.0 -02 0.2 266.4 0.000.00 0.00| n0OOW=N  13.9 0.0 -02 02 266.4 0.00 0.00 0.0 =
"o n025w 296 -03 -71 71 266.8 0.250.250.25| n025w 296 -03 -71 71 266.8 0.250.250.2 n025w 340 00 -1.3 13 267.9 0.250.250.2%| n025w 340 00 -13 13 267.9 0.250.250.2! n X
-CT o no50w 507 -28 -54 6.1 242.2 0.50 0.50 0.50| n0O50w 507 -28 -54 6.1 242.2 0.500.50 0.5 no50w 551 0.0 -1.3 13 270.7 0.50 0.50 0.50| n050w 551 0.0 -1.3 13 270.7 0.50 0.50 0.5 cm
D 3 no75w 717 -18 -50 53 250.0 0.750.750.7%| n075w 71.7 -18 -50 53 250.0 0.750.750.7 no75w 76.1 0.0 -0.7 07 276.4 0.750.750.7%| n075w 76.1 0.0 -0.7 07 276.4 0.750.750.7' 8 =
3 = n100w=w 926 0.0 0.0 0.0 220.9 1.001.00 1.00| n100w=W  92.6 0.0 0.0 0.0 220.9 1.00 1.00 1.0 n100w=w  97.3 0.0 0.0 0.0 150.4 1.001.00 1.0¢| n100w=w 97.3 0.0 0.0 0.0 150.4 1.00 1.00 1.0 3 =
-~ —
o0 KE110-3N, photo printer, printer separation olv* KE110-4N, photo printer, printer separation olv* KE111-3N, Laser printer, printer separation olv* KE111-4N, Laser printer, printer separation olv* ® o
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= . rgb —> rgb* and CIE data of a elementary hue circle rgb —> rgb* and CIE data of a elementary hue circle rgb —> rgb* and CIE data of a elementary hue circle rgb —> rgb* and CIE data of a elementary hue circle —h
E g according to CIE R1-47:2009 for offset print according to CIE R1-47:2009 for offset print according to CIE R1-47:2009 for laser printer according to CIE R1-47:2009 for laser printer g ped
== =
>
-.D\. (_E 16 step elementary hue circleh,, = 25.4, 92.3, 162.2, 271.7 3 colours of the elementary hues RIGBh,p, = 25.4, 92.3, 162.2, 271.7 16 step elementary hue circlehy, = 25.4, 92.3, 162.2, 271.7 3 colours of the elementary hues RIGBh,p, = 25.4, 92.3, 162.2, 271.7 (_f—Di- _\
~~
; x Code L% a*y b*a  C*apa hap rgb —> rgh* Code L* a*y b*a  C*apa hap rgb —> rgb* Code ¥ a*, b*a  C*apa hap rgb —> rgh* Code L*y a*y b*a  C*apa hap rgb —> rgb* - EjU')
wm r00j=R 487 667 31.8 739 254  1.000.000.0p ro0j=R 487 667 318 739 254  1.000.000.0p r00j=R 451 619 295 686 254  1.000.000.0p| rooj=R 451 619 295 686 254  1.000.000.0p 2
_O = r25j 545 529 479 714 422 100025000 O05(R+N) 355 333 159 369 254  0.500.000.0p r25j 515 574 521 775 422 1.000.250.0p 05(R+N) 290 309 147 343 254  0.500.000.0p
[ E r50j 632 350 580 67.8 589 1.000.500.0p 05(R+W) 72,5 333 159 369 254  1.000.500.5p r50j 617 376 624 729 589 1.000.500.0p 05(R+W) 711 309 147 343 254  1.000.50 0.5p 3
SN PN 175) 727 176 688 711 755  1.000.750.0p) 175j 720 184 718 741 756  1.000.750.00) (@)
(o] m j00g=J 8.1 -33 832 833 923  1.001.000.0p j00g=J 86.1 -3.3 832 833 923  1.001.000.0p j00g=J 848 -29 741 742 923  1.001.000.0p| j00g=3 848 -29 741 742 923 1.001.0000p S
'm = 259 778 -250 696 740 109.8 0.751.000.00 05(J+N) 542 -16 416 416 923  0.500.50 0.0p 259 834 -280 776 825 109.8 0.751.000.000 0,5(J+N) 489 -1.4 370 371 923 0500500.0p = —
Or j50g 67.1 -409 537 676 127.3 0501.000.00 05(J+W) 912 -1.6 416 416 923  1.001.000.5p j50g 69.7 -435 57.2 718 1272 0501.000.00 05(J+W) 910 -14 370 371 923 1.001.0005p O
N = 759 59.6 -55.6 39.3 682 144.7 0.251.000.00 759 60.1 -57.8 409 70.8 144.7 0.251.000.00 =C
B o goob=G 56.9 -615 196 645 162.2 0.001.000.00 g0Ob=G 56.9 -615 19.6 645 162.2 0.001.00 0.0p go0b=G 56.2 -60.0 192 63.0 1622 0.001.000.00 gO0b=G 562 -600 19.2 630 1622 000100000 (3 D
g Z g25b 59.3 -505 -85 512 1895 0.001.000.50 05(G+N) 396 -307 98 322 1622 0.000.50 0.00 g25b 574 -470 -7.9 477 1896 0.001.000.50 05(G+N) 346 -300 96 315 1622 0.000.50 0.00 ﬁ 3
l > g50b 613 -39.1 -29.4 49.0 2169 000100100 05G+W) 76.6 -30.7 9.8 322 1622 0.501.00 0.50 g50b 545 -38.1 -287 47.7 2169 0.001.001.00 05G+W) 767 -300 96 315 1622 0.501.000.50 =+
E’h : g75b 56.0 -20.6 -43.0 47.7 2443 0.000.50 1.00 g75b 48.9 -229 -47.9 531 2443 0.000.50 1.00 % &
b00r=B 412 13 -450 450 2717 0.000.001.00 b0Or=B 412 13 -45.0 450 271.7 0.000.00 1.0p boor=8 349 15 -48.9 489 2717 0.000.001.00 b0Or=B 349 15 -48.9 489 271.7 0.000.001.0p D
= _|
O X b25r 275 272 -469 542 3001 0.500001.00 05B+N) 317 0.6 -225 225 271.7 0.000.000.50 b25r 307 249 -429 496 300.1 050000100 05(B+N) 239 0.7 -24.4 244 2717 0.00000050 (N .
3 — b50r 37.4 501 -30.6 587 3285 1.000001.04 05(B+W) 688 0.6 -225 225 271.7 0.500.50 1.0p b50r 338 490 -299 574 3286 1.000001.00 05(B+W) 660 0.7 -24.4 244 2717 0.500.501.0p QD
D — b75r 494 724 -37 725 357.0 1.000.000.50 b75r 446 699 -36 70.0 357.0 1.000.000.50 —
o
=. 'U 5 step equidistant grey scalet* = 22.2, 40.7, 59.3, 77.8, 96.3 5 step equidistant grey scalet* = 22.2, 40.7, 59.3, 77.8, 96.3 5 step equidistant grey scalet* = 13.0, 34.0, 55.0, 76.1, 97.1 5 step equidistant grey scalet* = 13.0, 34.0, 55.0, 76.1, 97.1 8
~ U) Code L% a*y b*a  C*apa hap rgb —> rgh* Code L* a*y b*a  C*apa hap rgb —> rgb* Code L* a*y b*a  C*apa hap rgb —> rgh* Code L* a*y b*a  C*apa hap rgb —> rgb* %
nooow=N 225 0.0 0.0 0.0 37.9 0.000.000.09[ n0OOW=N 225 0.0 0.0 0.0 37.9  0.000.00 0.0 nooOw=N 140 0.0 0.1 0.1 85.7 0.000.000.00[ n0OOW=N ~ 14.0 0.0 0.1 0.1 85.7 0.000.00 0.0
n025w 408 -03 -14 14 256.8 0.250.250.2%| n025w 408 -03 -14 14 256.8 0.250.250.2 n025w 341 00 -09 09 270.7 0.250.250.2%| n025w 341 00 -09 09 270.7 0.250.250.2! _|l
no50w 592 -03 -1.8 18 258.1 0.500.50 0.50| n050w 592 -03 -1.8 18 258.1 0.500.50 0.5 nos0w 551 0.1 -1.0 1.0 277.2 0.500.50 0.50| n0SOwW 551 0.1 -10 1.0 277.2 0.50 0.50 0.5 -5
no75w 778 -02 -14 14 259.2 0.750.750.7%| n075w 778 -02 -14 14 259.2 0.750.750.7 no75w 76,1 0.2 -06 0.6 289.2 0.750.750.7%| n075w 761 0.2 -06 0.6 289.2 0.750.750.7!
nl00w=W 964 0.0 0.0 0.0 100.0 1.001.001.00| n100w=W 964 0.0 0.0 0.0 100.0 1.00 1.00 1.0 n100w=W 972 0.0 0.1 0.1 110.1 1.001.00 1.00| n100w=wW 97.2 0.0 0.1 0.1 110.1 1.00 1.00 1.0
KE110-7N, Offset print, model separation cmyn6* KE110-8N, Offset print, model separation cmyn6* KE111-7X, Laser printer, model separation cmyn62* KE111-8X, Laser printer, model separation cmyn62
TUB-test chart KE11rgb* and CIE data of 4 printer devices input:w setgray
5 RJGB and intermediate colours between RJGB and NW, 5 gratysit: no change compared to i
] M Y [0) L \Y




